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[31] [A]
-1 (PART-1I)
9 {9 9 fAENTET (CHILD DEVELOPMENT AND PEDAGOGY)
fdsr : i g7 % v &7 & [ qag SfEa Awey g
Direction : Answer the following questions by selecting the most appropriate option.
1. JAREROT & ‘HEg¥ehal APhH i 1. Who propounded the 'Need
&1 gfodres feee feam ? Hierarchy Theory' of Motivation ?
[1] & [2] F&i [1] Hull [2] Maslow
[3] Tefpad [4] &FEs [3] Atkinson  [4] Thomson
2. foefofag & @ S9-9@ Afda e 2. Which of the following is not a
g
H ward fafyr 7&f ® 7 projective technique of personality
assessment ?
[1] J=-grETd [1] Word-association
(2] EH?RTE[% [2] Sentence completion
[3] gUi9 i [3] Expressive movement
[4] HHSIHTT [4] Sociometry
3. e & @ P9 @ 9@ 3. Which of the following is not an
ReRsE 78 B ? extrinsic motive ?
[1] 9 & fore Qe wReqet e [1] Competing in sport for trophy
[2] a5 % e E} gg;ggjzchizrl Szleirv};ce for self-
3] 3'“"5@@3 %ﬁ ST BT satisfaction
[4] T Gl"T W T qud G [4] Buy one get one free
4. JERRe oEng qoeer ek & .. 4. Thematic Apperception Test is used
O &Y ST | AT S 2 to measure the ........... of students.
[1] gi& [2] SAf¥ear [1] Intelligence [2] Aptitude
[3] HAREr™ [4] e [3] Attitude [4] Personality
5. =fofad § @ P-4 HIF gHESH 5. Which of the following statement is
o d O 78 T 7 not correct with reference to
. i ?
[1] =2 ﬂﬁﬁgﬁmﬂﬁ S FT B E[lffuISttr:rzrzlltte.s imbalance
(2] & 3 il zﬁtﬂqﬁ i %Iji ! [2] It motivates to change the life as
ukii T ST Rid per the demand of the situation.
IR HE Bl . [3] It gives ability to bring desirable
[3] I8 ararEaeer o Rafqa § aisHE changes in the conditions of
qRadT @ Bl &HAT AT B environment.
[4] GRS & AWHE § Al aue [4] In the absence of adjustment one
o fiar ¥ R ' Y is surrounded by tension and
anxiety.
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[A]
6.

[~

[

|«©

e & e faee fEid &
IR g frehrarcTeh STedl § ‘Ieled
% e [T B ® ?

[1] Hasr-Osia

[2] qd-ifsharcee

[3] Hei-Hishareeh

[4] SNuenfRe-HiharcTe
gﬂﬁﬂﬁﬁﬁﬁﬁ?—wﬁaﬁﬂ'& &
?

TRFEE & T- SRl &
I T @ 2|
T

[1] zﬁw T U - R ST
g

[2] Y& S e - drEal s
Gyt

[3] wrEar T - qEl STae
oot T Qiehl

[4] HeFaqH
KRRl

frfafed & @ @F-a1 7@ X &

gleﬁﬁdn Tfaesar fasid @ et 787

?

[1] Sfem=

[2] Wﬁﬂﬁ

[3] ©Ed:

[4] grser

frffead & & @9-T1 FU9 g

% daet § wd 78 B ?

[1] PP § SRERCTES-THEIdES
faQyar w2 S 2

[2] SfERT i @REs § O
THNEE B el ol

[3] Af¥EgRT § eHfec-a%g ey U
ST R

[4] sfgRt Semq w@ i &Nt
B B

S - =R ST

Level-2/806

[4]

6.

[~

|

|©

According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Which of the following match is not
correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

[2] Identity Vs Role - Stage 5
Confusion

[3] Autonomy Vs - Stage 1
Shame and Doubt

[4] Industry Vs - Stage 4
Inferiority

Which of the following elements is
not related to Skinner's operant
conditioning theory ?

[1] Extinction

[2] Discrimination

[3] Spontaneous recovery

[4] Reinforcement

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude has motivational-
affective characteristics.

[2] Attitude range strongly
positive to strongly negative.

[3] Attitude have a subject-object
relationship.

can

[4] Attitude is innate and acquired
both.



5

frfofag & @ 9-a1 F99 I=t 3
e & IR & @&t 2 ?

[1] b A= SMgdReedT H Th
SR 2

[2] fawM@ Uh TEReE UEY SFTIE
H

[3] foerre wep werl ufar B

[4) fom & fafr= oM eradsfa
T 2l

11. Fed B S g g T0E, T

TR ©

[1] =l anfsse e @

[2] | SMieaeh G &

[3] STemfeash & A

[4] qnfeses Uq Sremisssh qO&T A
frfofad & & $9-8 gomEsdr B
faQar 78 ® ?

[1] Aiferpar [2] ST

[3] ST = [4] gRETRdT
frfafed & § P9-91 FRS -
NTERTH Uik &l Uefad 78l et & 7
[1] fareree 1 fawerr S

[2] f3es 1 AT @y

[3] frees &1 fawg &

[4] e &1 RS w9

gﬁq’aﬁ?ﬁﬁmw%qﬁaﬁﬁaﬁ
?

[1] G

PAREIRIRES

[3] GCEAT® Td YhEicHs aHl

[4] 78 4 3B T
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[5]

11. Cattell's

[A]

Which of the following statement is
correct about the development of
children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development
are not interrelated.

culture free test of

intelligence is a type of :

[1] Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test
Which of the following is not a
characteristic of creativity ?

[2] Flexibility

[4] Fluency

[1] Originality
[3] Rigidity
Which of the following factors does not
affect the teaching-learning process ?
[1] Teaching skill of teacher

[2] Mental health of teacher

[3] Subject knowledge of teacher

[4] Physical appearance of teacher
What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both

[4] None of these



[A]

‘@Or Y YRR @ Al s= @
foren & Q. wh HewEqel qor § 7

[1] SfcrasTet

[2] 69 STRrTRRdl

[3] SR STewe

[4] 9% gf&

ARG s et M A | D e o | B
JO® el STYFRAT B gAERId HC
e TR ol geae T © ¢

[1] M= e

[2] aREcHsi A
KIRGIEERERAIR]

[4] |aq

T S oges o (R 8 W) &l
feam # oM sEar ¥, FHea @

[1] fadfes-Hea

[2] Hifremifsted

[3] |t

[4] g

TH TER A Rritz B e

FOTE W B e ¥ M B9 §
ﬁﬁ%waaa%aﬁzﬁ%ﬁrm
T

[1] T e
[2] sifeRT aiEroT
[3] smfesss T
[4] TSI Oerer

frfefaa & 9 S9-9 afka stiwar
% i fofy 788 ?

[1] TR

[2] STadtied

[3] SATHRAT

[4] = TEad

Level-2/806

[6]

'Acceleration’ is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4] Continuous

'Development  proceeds in the
direction of longitudinal axis (head
to foot)', called :

[1] Cephalic-Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
the time element :

[1] Speed Test
[2] Power Test
[3] Verbal Test
[4] Performance Test

Which of the following is not a
subjective method of personality
assessment ?

[1] Interview

[2] Observation

[3] Autobiography

[4] Word Association



20.

da g 7 offed, gorrerear A e
td gEeH ¥ S| WF Bl T
IETET B -

[1] sTaaafeTe Rrrarett &

[2] sTa:-Qafedes Rrranett @

[3] STaQEAg =TareT &

[4] sufera Feranedt @

X A STl % WS (G &Y
fhl SN % UEEHH & AT H

o fear ?

[1] GHash qreaers
[2] fafare qreased
[3] | qrgzerd
[4] Tehiehd TEThA

22. [ & HESH-HiEpos HEid &

forem e fomam 7
[1] arFmeeht
[2] TReEA

[3] Prgaa
[4] STBTST

23. 98 TAIEHT T dHeanl 8, s &’

s U WE & e Bl R I
AR & e uRakid & F G

AT & ?
[1] QBT [2] FfRTh
[3] AFT=A®RT  [4] S8
frfefag & @ -1 g% FawE &
gfs |Xe Hisa & S 78T © 7
[1] wfsean [2] s
[3] feveasy [4] S@R

25. §& & P fsia & gfiues e
fepam ?
[1] MR [2] PR
[3] &= [4] a=i9

Level-2/806

[Z]

[A]
Meenal is average in intelligence,
low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences
[2] Intra Individual Differences
[3] Observable Differences
[4] Expected Differences

21. Which type of curriculum did Bruner

suggest to follow for the cognitive
development of children ?

[1] Inclusive curriculum

[2] Special curriculum

[3] Spiral curriculum

[4] Integrated curriculum

Who developed the Socio-cultural
theory of development ?

[1] Vygotsky

[2] Erikson

[3] Kohlberg

[4] Bronfenbrenner

What is the mechanism called,
through which a child tries to
change his own ego to that of
someone else ?

[1] Identification [2] Rationalization
[3] Sublimation [4] Projection
Which of the following component
is not the part of Guilford structure
of Intellect model ?

[1] Operation
[3] Content [4] Product

Who propounded the
theory of Intelligence ?

[1] Gardner [2] Guilford
[3] Sternberg [4] Vernan

[2] Cognition

Triarchic

P.T.O.



[A]
26.

TR B og-TRRAH Jfed
g # ORerR wd faee R
el d % Ie & 7

[1] ¥ [2] AwEshiied
[3] TFRER  [4] sMiEd
21. Frfoied & & @-a1 g a8 78

g7
fraia Rrsia
gfdes
(1] e - e f9em
GEAG]
[2] ST S IS C
Rrsia
[3] CRFEE - HANGMINGE e
Rrsia
[4] aRMicenl — Ao faem i

frfofaa & @ a9-9 6 g

iy it fadwar 78 2 ?

[1] 37O &warsti Td et & I
SARTEHT

[2] =¥ U6 gEA W FHE BT

[3] Hfd Sepiemd

[4] FaeR | ST+l

AR TR HE 517 A Qe

B 78 R e g & R ' 7

[1] AR [2] TSHicS

3] g [4] dffeest
frfofas st & & B
TeeedrE d deftq 78 2 ?

[1] iEa [2] TR

[3] TR [4] FERX

[8]

'Family and School' are the examples
of which environmental system in
Bronfenbrenner's Bio-ecological
Model theory ?

[1] Macro system [2] Micro system

[3] Exosystem  [4] Chromosystem

Which of the following pair is not

correct ?

Theory Theory
Propounder
[1] Piaget — Cognitive

Development Theory

[2] Bandura Social

Learning
Theory

[3] Erikson Psycho-socio

Development Theory

[4] Vygotsky — Moral Development

Theory

Which of the following is not the

characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others

[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full and

harmonious functioning of the whole

personality." This definition of

mental health is given by whom ?

[1] Menninger [2] Hadfield

[3] Drever [4] Waltin

30. Out of the following Psychologists,

who is not related with Gestaltism ?
[1] Kohler [2] Koffka
[3] Kretschmer [4] Wertheimer

Level-2/806



[91] [A]
[T - II (PART - II)
A7 (= g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |

f&=<t (HINDI)
fdsr : R g7 % v &7 & [ qag Sfaa Awey g
(1] WY 9 Rrgamr 2 - JRomis (1] &= - g
o IR S L
[2] 9 8 T @l & - SThiS 3] - ARG
foran [4] eEER - e
[3] oteaTas: are i R ver T @ 35. ‘U5 YR ARTH R A F U
- fewv® Bpar ‘e’ % H Pl G R 7
[4] gofiel SIR-9R-4 &9 W& ® - [1] STifceres
THHE fohdT [2] HATEETERR
v faLivan [4] fTaTe®
[1] %, STEIN, Hem 36. ‘SETAl 9= H W ©
[2] %, TN, HEHT [1] et
[3] F3b, TGN, ST 2] Bg=
3] g
[4] %, 3THIN, ST 5]
[4] it
33. ‘HrEAER q% H Ol Ai-fOees ©
31. fodm @t gftc | org faebea g -
[1] |1 + 3R
[1] 7& - J&
2 S [2] @fte - gHie
[3] &g + SR (3] s - R
[4] §g + ST [4] SN - T

Level-2/806 P.T.O.



[A]

Tl o= & H9-6 G § 7
[1] & @ dfr

[2] o1 @ gfY

[3] T &R Gy

[4] &S €iY

39. ‘FEmEr #1 9% gEEEt B

[1] Shet
[2] ST
[3] aret
[4] =BT

40. 79 fTecq ¥ URYEES AT #;

ST B3 B 7

[1] o of= feelt g & Tm

[2] 9 UfE & @M I

[3] 9o dredt Fem # e Bl

[4] 9@ & T HB T & @ o

41. “‘Ome W Se-9 WX REE T W@ g,

g B 37 a9 ¥ fR wdem @
ST BT & °

[1] Jouar=h
PARGEEIEE?
[3] Me=EEE=®
[4] STg=E=h

[10]

42.

g o & vgare ded ST @&

ST e & 7
[1] et
[2] ==
[3] diera
[4] T

43. ‘GO 9= § -9 q99 ® ?

[1] FHERT 99
[2] &5 999
[3] STEHEE TH

(4] STgE T T

44. 9 9= F O ST B TEN 7@

g & ?

[1] STgaX
(2] ST
[3] STg=X
[4] ST

45. fE @ &1 w@e e s § 2

g7

[1] T sreaf |

[2] 39T o) H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/806



3Nl (ENGLISH)

[11]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Select the appropriate one word
substitution for the following :

Former students of a school or college
[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children to the
700, she said

48. Choose the correct synonym of :

Genius
[1] Happy
[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for

the blank :

He has not yet recovered .......... his
illness.

[1] over [2] in

[3] at [4] from

Level-2/806

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select the correct antonym of :

Gloomy
[1] Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter ?" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who



[A]

4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOr

she does not/ resemble to / either of/

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[12]

58.

Change the voice from Active to
Passive and select the correct option :

Bees make honey
[1] Honey is make by bees
[2] Bees are making honey
[3] Honey are made by bees
[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/806
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[A]

AR - ITI (PART - III)
9MY 3T (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : R 797 % a7 &7 & [ qa9g ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

63. B & IR

RE meR gl &1 @ oy 9§ o

3G T UfeT TR B
[1] T@RX & [2] ¥R 9
[3] @ & [4] g0 &

62. T F AT & GRET HUA G Hel

“gg R TUar & fUar @ 9l @ 9
g’ﬁ STV TN @ fhE YR gesied
?

[1] =@
[2] St
[3] weien
[4] 9

13
%
4
s

o™ | dF

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

5 T G £ | 7 O ) | R O
HIoT -

LXF, MTJ, NPN, OLR,

[1] PHV [2] PIU
[3] PIW [4] PKX

Level-2/806

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre [2] Car
[3] Road [4] Hub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father of my father". How 1is
Prashant related to Anil ?

[1] Brother

[2] Brother in law
[3] Nephew

[4] Son

63. Four groups of letters are given

below, three of them are alike in
certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Find the next term in the following
letter series :

LXF, MTJ, NPN, OLR,
[1] PHV [2] PIU
[3] PIW [4] PKX



[A]

65.

el Fied g 4 '786' @1 o
'Study very hard', '958' & 1¢f 'Hard
work pays', '645' & & 'Study and
work', @ 'very' &l IS T BN ?
[1] 8 [2] 6

[31 7 [4] 5

g A, B ¥ 40 Hiex IR-uied H
8, C, B & 40 #iX eRorgd ¥ &,
WC, A G %g f&sm & arm ?

[1] @

[2] ufe=H

[3] SR-Fd

[4] <FRror

150 foenfist & o of|d &fw 35
IR =T oSO fERiE @
Aeq W<i®w 39 B qA S
frenffat @1 ofted w15 &, @
Tdem § S 8 a faenRiE @
&1 § T

[1] 120 [2] 125

[3] 135 [4] 140

I a*=b,b" =c I c*=a, A
xyz B0 A9 &1 ERM 7

[1] abc [2] 1

1
3] — 4] ab
[]abc [4] a

69. & BI § B T F HE H@a

HIT S 4, 5, 6, 15 T41 18 § Yof:

SRR IR
[1] 800 [2] 225

[3] 900 [4] 361

Level-2/806
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65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645" means 'Study and work’,
which is the code for 'very' ?

[1] 8 [2] 6
[3] 7 4] 5
If A is 40 meter South-West of B, C

18 40 meter South-East of B, then C
1s in which direction of A ?

[1] East
[2] West
[3] North-East
[4] South

67. The average marks obtained by 150

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140

If a*=b,b” =c and c*=a, then
what is the value of xyz ?

[1] abc [2] 1

1
3] — 4] ab
[]abc [4] a

69. Find the smallest perfect square

number which is exactly divisible by

4,5,6,15and 18 :
[1] 800 [2] 225

[3] 900 [4] 361



10.

W52 x (V5] 2 5 2w ?

1 1
1] — 2] —
55 2l s

1 1
3] — 4] —
Bl 55s 42

71. T O THHARE AN B X A 15 a9

¥ AT & S 8, O e ast | a8
IE! AT H & § 8 A1 B S ?

[1] 30 ¢ [2] 40 %

[3] 60 a9 [4] 45 a9

& 25 oeH fhel wad @ 60 &l
T Fe Tha &, A 10 JAEH I HEA
& fhaw ot & @re g ?

[1] 125 R [2] 92 f&s
[3] 100 f&F [4] 150 &9
13. IR x+%=5 2, a x3+i3 H HAH
1 BT ? ’
[1] 125 [2] 110
[3] 115 [4] 105

=1 oi®% H@ell & SFl Y& &0
BT ?

2,7, 24, 77, 238, .......
[1] 721 [2] 722
[3] 723 [4] 733

Level-2/806
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10.

[A]
What is the value of
(\/g)_S/Zx(\/g)_S/Z )
1 1
1] — 2] —
[1] 25 (2] 125
1 1
3] — 4] —
5] 325 4] 625

71. A sum of money doubles itself in 15

years at compound interest. In how
many years it will become 8 times at
the same compound interest rate ?

[1] 30 years [2] 40 years

[3] 60 years [4] 45 years

If 25 men can reap a crop in 60 days,
then in how many days will 10 men

reap the crop ?
[1] 125 days [2] 92 days

[3] 100 days [4] 150 days

13. If x+l =5, then what is the value

X

of x3 +L3 ?

X
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2,7, 24, 77, 238, .......
[1] 721 [2] 722
[3] 723 [4] 733



[A]

15.

\/8+2\/8+2\/8+ ........ %l HM FId
HIT

[1] 8 [2] 10
[3] 11 [4] 4
I a B GSE T H S0% g

B S, o 39% &9%d &l gfaed gis
EIRECTIE L

[1] 50%
[3] 125%

[2] 100%
[4] 150%

77. IR —H S X, + F T =+, +~ H T +,

XFAT—F, AW 15-5-5%x20+ 10
& AN 1 BT 7

[1] 70 [2] 78
[3] 75 [4] 73
el @& @ 72,000 9 & SR W

frell @t I 20% H @9 & §, @
SH q%] BT BT T T AT °

[1] 60,000 %o
[3] 40,000 %o

[2] 50,000 S0
[4] 65,000 %o

T <@ § f9-91 | TATe 7

8,13, 21, 32,47, 63,83
[1] 13 [2] 32
[3] 47 [4] 63
T% o 89 99 U=f W a1 4
T T Bl 99 3@ 64 B gl | el
T 8, 09 fRoM B’ 89 8 e
P13 I 1M AT &l & ?
[1] 24 [2] 16
[3] 8 (4] 4

Level-2/806
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Find the value of :

\/8+2\/8+2\/8+ ........
[1] 8 2] 10
[3] 11 (4] 4
If each side of the square be

increased by 50%, then find the
percentage increase in the area :

[1] 50% [2] 100%
[3] 125% [4] 150%

11. If xstands for —, + stands for +, + stands
for +, — stands for X, then what is
the value of 15-5+5%x20+107?

[1] 70 [2] 78
[3] 75 4] 73
By selling a commodity for

Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[3] Rs. 40,000

[2] Rs. 50,000
[4] Rs. 65,000

Which term is the

following series ?

8, 13,21, 32, 47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

wrong in

80. A solid cube is coloured red on all

faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24 [2] 16
[3] 8 [4] 4



8l.

98 T, e = aEl 3ot =i
T F AR I R R

[1] STl

2] g
[3] Foa=

[4] QIOd

82. g for, ST&l SIdMEe Il S 2

[1] 928

[2] T
[3] BIEER

[4] Q=IIA

83. BRAN TWHX Hl 9 JeMT & ded

gREeT % 9w ga @
gmﬁzﬁ—aﬂzséaézrr{ﬁmww
?

[1] Ted URAR SN it
[2] 9RER Yea™ 9 AT
[3] e RER dyfE FiorET

[4] S STER e

BT % UYoEl U9 degrel H
qigament & forw TR @ T el @
yfqsrd ®

[1] 25% [2] 33%
[3] 66% [4] 50%
85. g8 Mo/, Sl Yeal X R #
-9 AR fpar T R
[1] Teu™ [2] He=ga
[3] fRER [4] T&c®

Level-2/806
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[A]

81. The place, which was visited and

mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

82. The district, where Dolomite is found :

[1] Mahendragarh
[2] Gurugram

[3] Faridabad

[4] Panipat

83. Under which scheme of Haryana

Government the socio-economic
data of all the families of Haryana is
being created ?

[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in
Haryana  E-challan has  been
introduced :

[2] Panchkula
[4] Rohtak
P.T.O.

[1] Gurugram
[3] Hisar



[A]

oea e doiee’ fgeka e S

@R

[1] Too WHo &Eo 3o o Hio,
BRI THR &N

[2] Sifo THo Elo Uo, BRATM HXHN
A

[3] THo Jo Slo To, ERAMT &N
A

[4] =8 fapE H#9@, 9RG @R
A

81. T AR, Sk HREWT F Iepedl B

BRI Y &R Od WS A e
S B

[1] ZTEE o
[2] 5 af¥rs arare
[3] HERIT a9 ST
(4] o1 orare

&% Bl e @ BT & ART |
WE

[1] 11at
[3] 154t

[2] 21at
[4] 184t

89. &% H I H YW T S

AR ¥

[1] fHoSEm™

[2] -TeT

[3] aCE

[4] Tetear

giwun T Uy e & O sgE
[1] T & FJegusl

[2] AR AR

[3] T™9 & weleEer

[4] T59 % To99

[18]

86. 'Global

City Project' is
developed by :
[1] HSIIDC, Govt. of Haryana

being

[2] GMDA, Govt. of Haryana
[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,
Govt. of India

81. The award, which is given to a sport

coach for excellence in coaching by
the Haryana State :

[1] Dronacharya award

[2] Guru Vashistha award
[3] Maharana Pratap award
[4] Arjuna award

88. The position of Haryana in India in

respect of area is :
[1] 11th
[3] 15th

[2] 21st
[4] 18th

89. The smallest (in term of area) wild

life sanctuary is :
[1] Bhindawas
[2] Nahar

[3] Saraswati
[4] Chhilchhila

90. The de jure head of the State

Administration in Haryana is :

[1] Chief Minister of the State

[2] Divisional Commissioner

[3] Advocate General of the State
[4] Governor of the State

Level-2/806
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[A]

9N - IV (PART - IV)
e fas9 (HOME SCIENCE)
3T : R g7 % a7 &7 & [ qag Sfa [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

fFg TeR % TRaR & - ofd, oo e}
=, Uil 3 OH e § 7

[1] Rgesia qRar
[2] T GRaA
[3] AL IREAR
[4] €gF TRER

ol gmEmafy 3, fEE aee
799 fa & AU SUgH B B

[1] S/=Q Silaq [2] Siawehd

[3] Silee s=d [4] €&

93. WB3E|%%TW%I

[1] SAfeq [2] B UE
[3] frafee [4] aBREA

T TfefateEr § ¢

[1] S8

[2] AFET

[3] T WM ¥ TE WM W S

[4] T faheT @& B

95. AM® I H I9F IS & °

(a) &M FH &
(b) IO ¥ BT
(c) ¥ BT A YeeiH
(d) = o

%<

[1] (a), (b), ()

[2] (a), (b), (d)
[3] (), (b), (0), (d)
[4] (b), (c), (d)

Level-2/806

9l1.

In which type of family — husband,
wife and children live in wife's
home ?

[1] Patrilineal family

[2] Nuclear family

[3] Matrilineal family

[4] Joint family

....... is the period of time, for which
the food is fit for human consumption.
[1] shelf life [2] life span

[3] save life [4] preservation

93. Vitamin Bj is also called as :

[1] Biotin
[3] Niacin

[2] Folic acid
[4] Thiamine

Motor Activities are :

[1] To jump

[2] To run

[3] To move from one place to
another

[4] All options are correct

95. The effect of mental fatigue are :

(a) Decreased attention

(b) Decreased motivation

(¢) Increased mental performance
(d) Impaired thinking

Code :

[1] (a), (b), (c)

[2] (a), (b), (d)

[3] (a), (b), (c), (d)

[4] (b), (c), (d)



U eI B, o 6 dep
frell afrg & & o B, 99 9% &

Fis fafehea®s SU@e Bl ol
(]88 2] %€ @

(3] AT we 4]
.............. arel & @@ FE A
T H ol

[1] fefs C

[2] feet®e A

[3] faf®= B,

[4] feei= K

[1]§sa§awwﬁaﬁawéﬁ
l

[2];‘681@6%#@5?\%9%@%
l

[3] 98 SIS & 91 &Y & &
[4] T& STETE el B

99. fhdl it 47 #, "oe M B W S

ST §, Pedd ®

[1] 9= 2] &

[3] fe=e [4] g=fad

ICDS uRaeT fE ag & gros &
T®E aE@®E:
[1] 1974
[3] 1976

[2] 1975
[4] 1977

Level-2/806
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.............. is the help, which is

immediately provided to the person
till the doctors help is obtained.

[1] Band Aid [2] First Aid
[3] Teaching Aid [4] Tape

helps in the proper

functioning of Eyes.
[1] Vitamin C
[2] Vitamin A
[3] Vitamin B,

[4] Vitamin K
Zinc 1is called a trace element,
because :

[1]

it is needed in a very large
quantity.
[2] it is needed in a very small
quantity.

it works with lodine.

[3]
[4] it is not needed.

99. Addition of white colour to any

colour is called :
[1] Shade
[3] Tint

[2] Hue
[4] Intensity

The ICDS scheme was intiated in a

year :
[1] 1974 [2] 1975
[3] 1976 [4] 1977



[
[

[
N

[
(2]

[
>

[
(52}

AMBo Hio THo 3MNo BN TH 15
T TSH B [T e T B T
qifteess STELTSHR & :

[1] 30 o IMoffds [2] 27 o To/fed
[3] 35 o IMoffde [4] 28 o To/fed
FARSTHR Hl GrE fhesd &4 &
A’ 7

[1] SiceTzm

[2] A &=

[3] 9EH

[4] TSN

ICMR ¥ @ Y&t & fohae AW &
ferefora fopam B 7
[1] 5

[3]1 7

@ F oo W A R W e @
HROT I~ STETHAT FedA! & ¢

[1] A% 96
[2] SRR B
[3] T

[4] STgfa IR a1

fafr 2

[1] & el & ST & H
Jrgar

[2] Sl g oTEqse &3 Al

[3] TG A
[4] TH AT B SUANT B Bl A=

[2] 8
[4] 6
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101.

=
DN

=
w

=
TSN

=
1

[A]

ICMR
Allowance of Iron for 15 years old

Recommended Dietary

girl is :
[1] 30 mg/day [2] 27 mg/day

[3] 35 mg/day [4] 28 mg/day

Kwashiorkor problem is based on
deficiency of :

[1] Calcium
[2] Iron

[3] Protein
[4] Iodine

ICMR divided food products into
how many groups ?

[1] 5 [2] 8
[31 7 [4] 6

Inefficiency due to excessive work
done in the past is known as :

[1] Psychological fatigue
[2] Physiological fatigue
[3] Stress

[4] Wrong body posture

Bilingualism :

[1] is the
languages

ability to use two

[2] rapid and confused speech
[3] repetitive speech

[4] is the ability to use one language

P.T.O.
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106. 7-@@3@@@'@'{?{ cH’*’H‘Eﬁ g 106. 7-Dehydrocholesterol is the Precursor
of :
[1] fef= E - [2] faefs C [1] Vitamin E  [2] Vitamin C
3] fgefm D [4] fae e A [3] VitaminD [4] Vitamin A
107. TQTS\I-‘I&', Taq  foemed, Gfl"ﬁa'lff Bl 107. Creche, Nursery schools,
g Anganwadies are :
[1] gﬂTﬁﬁ % o deme [1] Institutions for adults
[2] ﬂ\“@”‘ﬁ % U e [2] Institutions for old age person
[3] Sch B AN @ B G [3] Institutions for care of children
[4] Tt B o eI [4] Institutions for servants
108. UARfRAT sErEr %, U 108. Anorexia Nervosais a:
[1] SR [1] Osteomalacia
[2] &g gl R [2] Nervous Disorder
[3] 9o TR @R [3] Eating Disorder
[4] &9 greet faer [4] Hormonal Disturbance
109. f&di® 1 9C o R ¢ 109. Secondary colours are formed by :
[1] T% Wi T N & fEdEE T [1] mixing one primary colour with
% Y e one secondary colour
2] T Q’cﬁ'ﬁlzﬁ T H TH qAEE T [2] mixing one tertiary colour with
& Y ] one primary colour
[3] & Q’cﬁ'qzﬁ LUICIREKIETY [3] mixing two tertiary colours
[4]  grafie TN B BT [4] mixing two primary colours
110. To98T 9T & 7 off %8 @ © ¢ 110. Direct income can also be called :
[1] grefaes [2] AT [1] Real [2] Psychic
(3] YaveH [4] %9 [3] Money [4] Total
111. &HH-91 W0 ‘Gﬂg‘% W B I q S 111. Which fiber is known as 'Magic
S & 7 fiber' ?
[1] A= [2] %Ud [1] Nylon [2] Cotton
[3] XM [4] S [3] Silk [4] Wool

Level-2/806
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112. EFQIEI%SH B e %, T IE 9 ¢ Communication word has been
derived from word :
[1] &g [2] e [1] Communis [2] Community
[3] @A [4] &l [3] Commodity [4] Communal
113. qﬂ'ﬁ%’ & AT TR ® 113. Following are symptoms of Diabetes
Mellitus :
(a) UfegRAr (a) Polyurea
ORIEISEE (b) Polydypsia
(OR-EESIESIEE! (c) Hypoglycemia
(d) RIS (d) Hyperglycemia
(e) EEUIBHTET (e) Hypophagia
ZT Code :
[1] (a), (b), (c) [1] (a), (b), (c)
[2] (a), (b), (e) [2] (a), (b), (e)
[3] (a), (b), (d) [3] (), (b), (d)
[4] (b), (c), (d) 41 (b), ©), (@)
114. ........... ST At B g9 FAqEn 114. .......... is the Japanese art of flower
2| arrangement.
[1] sie&q [1] Vertical
[2] 3B [2] Ikebana
[3] &fast [3] Horizontal
[4] S-3ATicT [4] S-Shaped
115. 9N G g 115. Human Development is :
[1] PHES [1] Sequential
[2] PR [2] Continuous
[3] AT [3] Individualized
[4] et fJeeT a8t & [4] All options are correct

Level-2/806 P.T.O.
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116. 9 § § 39 9oEl SE-H B ?

el
el

[
ol

el
el

(a) WHIZ

(b) =X

(c) Ul TgH Rreed
(d) T FS

%e -
[1] (), (©), (d) [2] (a), (b), (d)
[3] (), (c), (d) [4] (a), (b), (c)

JER # FaE & JHAE § A 9
ST @

(1] S @t [2] Picwem

[3] Soit [4] STEEH @
GURIEI, HFART, @E @R B
Forsror B

[1] o g &t fafew

2] Fres @ fafwE

[3] SIS & QO A9 oW & At

[4] EoTEe & il

yEeE & [ @Rt @ 9el #H
T :

(a) HISHHS

(b) e

(c) FEF

(d) Teharaa

(e) qIH

%c -
[1] (b), (a), (d), (¢), (&)
[2] (¢), (b), (), (d), (&)
[3] (e), (d), (¢), (b), (a)
[4] (a), (b), (c), (d), (e)

Level-2/806
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116.

o
-

el
el

o
-

Which of the following are visual
aids ?

(a) Blackboard

(b) Poster

(c) Public Address System

(d) Flash Card
Code :

[1] (a), (c), (d)
[3] (b), (c), (d)

[2] (a), (b), (d)
[4] (a), (b), (©)

Loss of tissues in fever leads to
increased demand of :

[2] Calcium
[4] Iodine

[1] Protein
[3] Energy

Fermentation, Sprouting, mixing of
foodstuffs are :

[1] Methods of cooking
[2] Methods of chopping

[3] Methods that increases
nutritional value of food

[4] Methods of decoration

Sequence the various functions of
Management :

(a) Organising

(b) Planning

(c) Controlling

(d) Implementation

(e) Evaluation

Code :

[1] (b), (a), (d), (c), (e)
[2] (c), (b), (), (d), (e)
[3] (e), (d), (©), (b), (a)
[4] (a), (b), (¢), (d), (e)
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120. RS [ AW 96N Fi H-d1 fafy 120. Roasting method is an example of
T oM R ? which cooking method ?
[1] Ten fafyr [1] Moist Heat
[2] gl fafy [2] Dry Heat
[3] a&1 & 9™ [3] With Fat
[4] USX HhT [4] Pressure Cooker
121, TS, Sfee, SHRET, e T T - 121. Acid, Basic, Direct, Vat dyes are :
[1] El'@i%lzﬁ LS E2 [1] Natural Dyes
[2] SN {16 [2] Neutral Dyes
[3] TrEmEE ST [3] Synthetic Dyes
[4] T [4] Dyes
122. EIFEI%I?B I @ qiqe g 122. Group of Natural fibers are :
[1] GT'RFﬁT'T, Q@@I’H, U, BN [1] Orlon, Asbestos, Cotton, Dacron
[2] U™, T, 9H, TEAH [2] Cotton, Rayon, Silk, Nylon
[3] &, o, WH, 3 [3] Cotton, Linen, Silk, Wool
[4] fom, difeaees, 9, HAE [4] Linen, Polyester, Silk, Cotton
123. =1 & @ HI9-81 MW ST FHE 123. Which of the following household
AR ol SN T B BT & 7 equipment is a time and energy
saving device ?
[1] q;q@ a7 25 qefe [1] Washing Machine
2] € & & @ [2] DVD Player
[3] TEN [3] Telephone
[4] s [4] Television
124. FPO &1 e B 124. FPO stands for :
[1] @& IqEd §ed [1] Food Production Organisation
[2] % IAE AR [2] Fruit Products Order
[3] & ST Ge [3] Fruit Production Organisation
[4] YRR FERH TR [4] Family Planning Order

Level-2/806 P.T.O.
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125. &9 9= & AT H 0 9 Te! fher, 125. When the child doesn't get
a8 HAA © appropriate love of mother, he
suffers from :
[1] TR A HTT [1] Bed Wetting
(2] TG FARA [2] Nail Biting
[3] ST &M (3] Thumb Sucking
[4] @ faeeq @2 B [4] All the options are correct
126. e I B 126. Terrycot is an example of :
[1] =SS WM &I [1] Blended Fiber
[2] UrE M & [2] Cotton Fiber
[3] Heafoa ¥em & [3] Synthetic Fiber
[4] W & [4] Rayon
127. FHAT P tl\lslé e g%‘ k@ &, a 127. To show the increased width of the
ST AT ey : room one should use :
[1] R W Gl AqBA [1] Vertical lines on the wall
[2] ffs & |9 (BTl?f[) GlEe [2] Horizontal stripes on the wall
(3] RefaE [3] Advancing colours
4] T @ [4] Long curtains
128. ‘fasq SuHlRT SR fRa@  wAmN 128. 'World Consumer Rights Day' is
S B celebrated on :
[1] 20 St [2] 159 [1] 20January [2] 15 March
[3] 15 BT [4] 20 B [3] 15 April [4] 20 April
129. SISF B GUF FA Jren Raferr € 129. Conditions causing food spoilage are :
[1] d9E= [1] Temperature
[2] & A T [2] Air and Moisture
(3] pH [3] pH
(4] ¥ R ad 5 [4] All the options are correct

Level-2/806



130.

ol
[

[
N

bt
(2]

bt
S

G gl T A A ©

[1] Q& em, S b "X g Sfax &
= § o

[2] TET M S RreT IMER @ @
9 foram &

3] e, Yo, A, TN & fomn
g W

[4] Ys-qelt & fovem gamm Xam

HEH WH & A q ST

ST Bl

[1] &= [2] =W
[3] fom= [4] dffelaeex
g o B

[1] gt q gt

[2] S 9 fred & e
[3] Sfte Srgetl & Iedmel @l T
[4] SaoT b IuRfT
ﬂ'&'ﬁ?lﬁ%,ﬁ :

[1] & AR oy

[2] &aT X e

[3] foEE ol aersy

[4] aforY SR HgeX faem
Wil I gD S A T
[1] e am

[2] sfaedt I

[3] Rra g

[4] ¥=<T TN
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130.

ot
ot

=
N

=
(98]

=
w

[A]

Pulled wool means :
[1]

Fibers obtained from the skin of
dead animals.

Fibers obtained from the skin of

(2]

alive animals.

[3]

Fibers obtained from Camels,
Deers, Foxes and Rabbits.

[4] Fibers
sources.

obtained from plant

fiber 1s known as

Atrtificial silk.
[1] Rayon
[3] Linen

[2] Nylon
[4] Polyester

Potable water is :

[1] Free from impurities

[2] Mixing of dust in water

[3] Addition of animal excreta

[4] Presence of salts

Home Science is both :

[1] Arts and Commerce

[2] Arts and Science

[3] Science and Commerce

[4] Commerce and Computer Science

Flock yarns comes under :
[1] Textured Yarn

[2] Novelty Yarn

[3] Simple Yarn

[4] Grandelle Yarn
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g faete & ‘SW gu Rl &
9§ ST S 8 ?

[1] feefe B [2] feetf®= K

3] feef A [4] faefE C

e g § omdl WEM § wdEES
B 8 AR T& Rigelt & d@EEo 9§
S g ?

[1] sFieed@ [2] foert=a

[3] ieiezH [4] WeFzm

HE-8 U6 T B B G ST
(Cretinism) 2iar & ?

[1] Sicerzm [2] STEEN

[3] TEM [4] Wie o<

I B YRl B sEM & [T TEN
H & el giehar ®

[1] &S (WoTE)

(2] RSt (ggerer)

[3] AT

[4] =T

TR $ SMER YT IS & B ¢

[1] 2 YR & [2] 4 YBR &l

3] 1 YTBR & [4] 6 YR &
.............. Th 6 T G D
3T B

[1] goepEen  [2] fhammEen

[3] JE@mEET [4] FSEEET
AT garee §

[1] 3T, Sl

[2] &9, 9EE

[3] B, i

[4] &mand, &
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Which  Vitamin
'Coagulation Vitamin' ?

[1] Vitamin Bg [2] Vitamin K
[3] Vitamin A [4] Vitamin C

is known as

Which liquid contains good number
of antibodies and protect the infant
against infection, it is :

[2] Vitamins

[4] Spectrum

[1] Ergosterol
[3] Colostrum

Cretinism occur due to the deficiency
of which nutrient ?

[1] Calcium [2] Iodine

[3] Protein [4] Iron

Procedure used to remove impurties
from wool :

[1] Scouring

[2] Singeing

[3] Mercerizing

[4] Tentering

According to the length, fiber is of :
[1] 2 types [2] 4 types

[3] 1 type [4] 6 types

is a period of stress and

[1] Adulthood
[3] Infancy

[2] Adolescence
[4] Old age

Non-human Resources are :
[1] Knowledge, Energy
[2] Money, Goods

[3] Interest, Skills

[4] Abilities, Attitudes
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bt
1

bt
D

SEEICHE|

TR A

w1 R IEs T B
BT B

IEREKI
[4] QT 9

%Bqaﬁﬁ’rwa%ﬂaﬁ BIS] 3HE FHeadl
[1] a&= [2] grm
RIEEISIER [4] XS

qOS H INEl & FPER fHdl &
Faer ¥ IRad™ Fedr

[1] e faem

[2] @St b

[3] G A faehre

[4] aTR® 4

98 P ol Al el Bl §HN @9 |
T4 ], HE B -

[1] T & &

[2] 9 & &

[3] SHges

[4] afeqel

U @ gwEsiadr dl ¥R 9l
el 8, 3% &N :

(a) HaE H TH

(b) X

(c) FHRIAS Tgid

(d) o=t

%c -
[1] (b), (c), (d)

[2] (a), (b), (¢)

[3] (a), (b), (¢), (d)
[4] (a), (¢), (d)

[1] Sgal A
[3] dre@l A
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[A]

Head of the newly born baby is
of the total length of the

[1] One Tenth
[3] One Fifth

[2] One Fourth
[4] One Third

The smallest wunit of cloth

construction is called :
[1] Fabric [2] Yarn
[3] Drafting [4] Fiber

Moulding one's behaviour according
to society's expectation is called :

[1] Moral Development

[2] Social Development

[3] Cognitive Development

[4] Physical Development

The child who uses both the hands
equally, is called :

[1] Right handed

[2] Left handed

[3] Ambidextrous

[4] Extrovert

the
effectiveness of communication by :

Communicator can 1increase

(a) Knowledge of message
(b) Noise

(c) Positive Attitude

(d) Good Voice

Code :

[1] (b), (c), (d)

[2] (), (b), ()

[3] (a), (b), (), (d)

[4] (), (¢), (d)
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147. =R & HE-A1 ROl o @B

bt
>
0

[
(-]

g7
[1] fqef®= By,  [2] fqefe K
[3] fqeif= ¢ [4] [qEfE A

.............. TH Sfgh TENE 56
2, frad i, oot ok =2 23

[1] STfa [2] o=
[3] URER [4] M=

T B AE §

[1] HvefT off A3Fd ™A 3R
M TAFRIU

[2] HETHT el AIE &R TgH
TR T

[3] HEr i AIMd & TRAgHe
TR T

[4] HeRMl A9 & TRigae
TR Ve

150. TR STaey ® :

[1] 51 & 1% 98a 30 f&F d%
[2] 299 ®§ 6 9% &
[3] 30T & 2 ¥ 7%
[4] THIEH & S &

[30]

147. Which of the following is an
Antiscurvey Vitamin ?

[1] Vitamin By, [2] Vitamin K
[3] Vitamin C [4] Vitamin A

=
Co

.............. is a biological social unit
of husband, wife and children.

[1] Caste [2] Friends
[3] Family [4] Gotra

Full form of MGNREGA is :

[1] Monitoring of National Rural
Eager Growth Association

[2] Mahatma Gandhi National Rural
Employment Gaurantee Act

=
O

[3] Mahatma Jyoti National Rural
Employment Gaurantee Act

[4] Maharani National Rural
Employment Gaurantee Act

150. Prenatal period is :
[1] First 30 days from birth
[2] From 2 years to 6 years
[3] From 30 days to 2 years

[4] From conception to birth

Level-2/806
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
O ® ®& @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. @ I %90 OMR I TF W & A B T TR A

. 6 FE -G § 39 WM & [T @ T @l e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU 0 =R fowed § & S fagcy & T OMR ST ™% W #a0 06 99 & & T TE & a9 @Re 0

T T TF R X Sifhd Y B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #Y % 30 ST T B qYl T ¢ U@ S8 W HE A MW T ) el S TfHiE S T A
fraifa wm & efaRed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B AFGEF T H, Fin B A Rk F (997-gRaw o SR % F FHE § e @ Rafy
H W) {H’ﬁ 9 W e Iuae T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wHie B Tl 9 add 9 swnR 9 7 g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

avfl # olen S/ F TR W iR TeAN @ & ofoRe Rl ser @ argg-arel, ga o st s & afr,
YoR, M B, Faslies SUBT A Rl oF FR & |l Hl & S a1 WM HIA @ SgHI 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 TN W uaE ol STeAT Wy #E (A o) iR UgAM U @M (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B AT AN $ AT P TRl STUAT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR THAEE B AT IR T 2 T T sWER 9 W SR sERR Ry faer erved) wlen g T8 sRh Ak e
el 7 gAY 9R SWER 9 W SWRR Te R A ¥ A e 3ER I T e e’ & R T HET &
A AT SO OMR SR O & FeiiRa @M W ol ol e o ey & oS & e e S 21 oS &
MM &0 999 59 99 W SF @ ] [ @ @@ Aer § & 0 A i @Rt B AR T o 959 ot o 9 T &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa*rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & Y, TRl feRlE & & T uke/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T w e A d e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TOE qO BN W, TRl F/2 Bled § [ S TN H-THAEE B oA A A1 AR 0N 6y 39 9eT-gRAH B

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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